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Q1. Astigmatism can be corrected by the use of _______ .

gftedwr ________ & TUNT & gRT S fHar ST Tpar &
A. Cylindrical lens / SdITHHR o F
B. Convex lens / 3daT &iF
C. Concave lens / 3/@dd g
D. None /39 4 &Ig I8!
Sol-
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A. Bronze / dtad
B. Gun metal / 9g& 41q
C. Stainless steel / &aT LA
D. Solder / Hes¥
Sol-
Stainless steel is an iron alloy and is made of mixing iron with metals like chromium, carbon,
nickel, molybdenum, and manganese in appropriate proportions.
Stainless Steel was invented by Harry Brearley.
In India, the first Iron and steel plant was set up at Jamshedpur.
It was called named Tata Iron and Steel Company Limited (TISCO).
R Wl U oitE iy arg & ok 3R srquT  FfTm, Sid, Ride, Mty ok frder kit
a1l & TTY @ B FAATEHR FATT 7T B
AT e &7 AR 8¢ fameett = far o)
URA & UYH wIg U4 STd A8 JHAeR T nfod fasar mar o)
ST ATH TTeT 3R VS LI U+ fafies (fewaph) war mam

Q3. Which one of the following is known as factory of protein?
frafafad # 3 5 idT & sRe™ & §0 8 I 1T 872
A. Conarium / dHTRTH
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B. Ribosomes /Reraaa

C. Parotid gland / ?Rifes UfY

D. Lymphatic / famsies
Sol-
The ribosome, the protein factory in every living cell, gathers amino acids and assembles
them into protein chains to make almost anything the cell needs.
TSR, TS ST SIfAST H W BT SReamT, 3nfiY TS &Y $gT e & 3R I W siacmaif
# gPhgT T & I HIRNST BT TT &R e Y ST et 2
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Q4. Who among the following had given the Atomic Theory?
Rgafaa § 3 foaa wam] gia faar ar?

Benzamin Franklin / §STfa= thidwa

Madam Curie / #39 ag3

Albert Einstein / 3Tca¢ RN

John Dalton / 9 Seed

oN®

Sol-

John Dalton (1766-1844) is the scientist credited for proposing the atomic theory.
ST STeed (1766-1844) &Y TRATY] figia &7 fduTed & &1 9 far ST 81

Q5. ________ is used to measure the angle of the crystal.

________ BT 3TN Fohtee & H0T Y AT & faw fvar Smar 2
A. Clinometer / famier

B. Sphygmomanometer / TRITHTHTIHICR

C. Pluviometer / wfadaiiex
D

. Goniometer /mfaaeiey

A. 80°C
B. 120°C
C. 180°C
D. 100°C
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Sol-

The following reaction occurs:

2CaS0,. 2H,0 — (heated at 393 K) — 2 (CaSO0,). 2 H,0 + 3 H,0O + Heat
Gypsum Plaster of Paris Water

T e e AT ___ T HRUT T 8
A. Mosaic Diseases of tobacco / daTg &T Hivid T
B. Wilt of potato / fdee 31Te]
C. Blight of rice / 9Tdd sTsc
D. None of these /g78 & HI$ T&f

Sol- The genus Xanthomonas, which mostly comprises phytopathogenic bacteria, is a
member of the family Xanthomonadaceae.

Among xanthomonads, Xanthomonas oryzae pv. oryzae causes bacterial blight (BB) of rice
which is one of the most important diseases of rice in most of the rice growing countries.
S S, s SoTerR wreediafRe dadifar enfie €, SR uRar &1 v ve 2
Semsd &, ST e didt SRS araed & Siar] gierT (i) &7 SR a1 @ S I1ae ST
aTel Srfarpier Ao # ATt P Hed Hgeaqut SaThal § F e &l

Q8. Crescograph is related to -

P TAT &

Growth in plants / dtat & gfg

Speed of wind / gaT & Tfd

Count of blood cells / Iwh HIABTSM T TeAT

Measuring small electric currents/ ¢ fagd aRT3M &Y ATgAT
Sol- A crescograph is a device for measuring the growth in plants.

o0 w>

Jagdish Chandra Bose: He was an Indian scientist who invented Crescograph, an instrument
that can measure the growth of plants.

FWHIUTE Grelt § Ifg BT ATda & faw U Iuawor 81

STTEIRT 9 §19: 98 U YRAIT daT+e 3 fOmgi ST &7 IR T, T QAT IUaRT St dte &t
gfe &Y AT IHdT 2|

Q9. Who discovered hydrogen bomb?
gTSSIo §9 &f WioT fhaa &r?

A. Edward Teller /Usas eeR

B. Edwar Jenner /Tsas SR

C. Henry Bessemer / &R §9WR

D. Antoine Lavoisie / @@t @masfRw
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Sol- Edward Teller, Stanislaw M. Ulam, and other American scientists developed the first
hydrogen bomb, which was tested at Enewetak atoll on November 1, 1952.

TEqs OoR, TATd TH. I 3R 3 Al et 3 g gregioH a0 faafad faar, foaer
THREIUT 1 TR 1952 DT Udees Yeled | faham 1 Tl

Q10. Which of the following match is incorrect?
ffafaa 8 @ o9 a1 T w8 & 82
A. Adrenal Gland / 3f@gas Uf - Produces a variety of hormones/ faf@ie U&R & gdH &1
IeqTe T &
B. Hepatocyte / THdaIfeT - Bile secreted cell / Ot grfdd ST
Vitamin D /fdetf®= D- Stores in Pancreas /3= § FUfgd
D. Stomach /3THIeTT - Rennin enzyme is secreted/ X9 UaITgH F1fad &raT &

0

Q11. Kerosene oil rises up in the wick of lantern because of
ATee § gt T ad a1 § W 31 1T 8, TS
A. Diffusion of the oil through the wick/ STd} & ATEIH F dd ST TR
B. Surface tension / s d419
C. Buoyant force of air / /g &T I&ATdd gc1
D. The gravitational pull of the wick/ STdT gRT Tocd g Rd=ma
Sol-
Kerosene oil rises up in wick of a lantern because of capillary action.
If the surface tension of oil is zero, then it will not rise, so oil rises up in a wick of a lantern
due to surface tension.
HAFT foFaT & FROT G FT A AT Y =AY H FW I3 B
Tfe A FT Y3 a9 e &, df 98 Té1 IS, TH@Y U8 dH1d & HRUT A dTered df §dl § SIR I3 SArdT
gl

K.Oil

Water

Qi2. A photostat machine works on

Tsh BIeRee Hefi fodr Rgia ) &l erar 872

Electromagnetic image making/ fagd =T wfd s9
Electrostatic image making/ smagefes Bfd s
Magnetic image making / 9a$IT Bfd §9

Thermal image making / oHe Bfd s9

o0 w >

Sol-
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Most modern photocopiers use a technology called xerography, a dry process that uses
electrostatic charges on a light-sensitive photoreceptor to first attract and then transfer
toner particles (a powder) onto paper in the form of an image.

Ffaawier sTYfe ISR SRIUTEH THE Tdh da-1d ST ITTNT aRd &, U T TiohaT St Us UhTel-
TdeTMeT BIEINAT R Tide e e ITol &7 ITTNT B! & 3R Uga U ©id & F7 & R HUlT (TH
UI3IR) BT DTSl R WMTART Bl 2l

Q13. What is the range of masses involved in the study of Physics?
it & sreme # el gousT 6 T aur 87

A. 10” kg to 10™ kg

B. 107 kg to 10" kg

C. 107°kg to 10* kg

D. 10*°kg to 10* kg
Sol-
The range of masses involved in the study of Physics ranges from 10°° kg to 10* kg.
107°%kg is the mass of an electron and 10* kg is the mass of known observable universe.
FHfaH & sreqe § e gogar1 & Fmr 107 fFur & A 107 &5 a6 gt 21
107 f5UT U SAaei- &7 goddTe & iR 10 fHUT ATT a1 §gIis & goud 2l

Q14. Which one of the following is not a Scalar quantity?
fRufafea & 3 v & v sifeer amr 7 &2

A. Temperature / dTq{
B. Distance / g
C. Speed/Tfq
D. Polarization / gdleur
Sol-
A scalar quantity has only magnitude.
A vector quantity has both magnitude and direction.
Scalar_Quantities Vector Quantities
length, area, volume displacement
opeed_ velocity
mass, density acceleration
pressure momentum
temperature force
energy, entropy lift, drag , thrust
power

work, weight

Q15 Which of these represent the Angular momentum of a satellite?
T8 A DI US IUUE & FHivfly nfa &1 wfaffaa srar @2

A. mvr
B. ma
C. mr
D. mvh
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Sol-

Angular momentum of satellite is given by mvr. Angular momentum of satellite depend on
both the mass of orbiting and central body as well as the radius of orbit.
IYUE ST HIUNT HAT mvr gRT AT SATAT 81 ITUE HT ST HIAT H&m & goud™ 3R iy s & arg-
1Y HE Dl Far AT R R e 2

Qi6. Which of the following is the mirror formula?
fofafad 3 4 S a1 o &1 g7 87

AL v+tu=f

B. 1/v+1/u=1f

C. 1Uv+1lu=f

D

. None / 99 A &5 781

Q17. What is the refractive index of water?
T T 3TacTh T 87

A1

B. 2

C. 133

D. 1.78
SOL-

Refractive index normal

incident ray

angle of
incidence

-

medium

refracted ray

angle of
refraction

Q18. ‘Amalgam’ is a term used for an alloy of a metal with
ToTT' TS 4Tq & Asr arg & fow gainT fasar 19 aretT o

A. Copper/ €T

B. Mercury/ UrT

C. Lead /dfr

D. Aluminium/ Tafafaad

Q19. Which among the following minerals is also known as Chlorargyrite?
fofafad & & foa wfe & serififiee & v0 & ST ST @

A. Agl

B. AgCl
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C. Zns(PO.),

D. Ag,S
Sol-
Chlorargyrite is the mineral form of silver chloride (AgCl). It is also known as cerargyrite
and, when weathered by desert air, as horn silver.
Silver chloride is formed by the disappearance of the initial silver oxide layer.
FERTTTERTEE fAeeR FwRTes (AgCl) T WS ¥7 81 38 WIieRTee & 0 & oft Sir Smar @ iR, 59
IRATT gaT & HROT A B ReaR & $q H ST Il 2
AR FeiRTES URMS RAeR sTauTes Wd & a9 9 T ST 81

Q20. Which among the following oxides cause the Acid rain?

fofafad & 3 f5a snauTss grT aneg auf gt 872

Carbon monoxide and carbon dioxide /&Ted HII3TRATES 3R HIa- STEIATFATSS
Nitrous oxide and sulphur dioxide / AT8gH TFATEE 3R TH STEIHRATSS
Carbon dioxide and Nitrous oxide / &1 STENTFATSS 3R AT IMTFATSS
Sulphur dioxide and Carbon monoxide / TR STEITFATES 3R FIET THISNTATES

oNnw




